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SECTION-A il»

N

Ay B T

i A et

Q1 Questions /.= i» A B C - D
deluivl L ) S . o /Ay n o '
1. | According to Hook's law: stress x strain = L v stress = strain |
constant constant = i constant = strain 5 .. | .
- strain St %
Al dr Lk S LEus
Afes @ LsshtpdnLute 2 x 107K
2. Sl 2% 10° K 8x 10" K" 8x10° K"
What will be the value of /3 for a solid for which
« hasavalueof 2x 10° K'? &
. 2/
3. et 7 JE T olit "v"’: :L)c :f a(; ‘ H
In gases heat Is mainly transferred by: collision &\ uction Convection
Sia bS5 28 18 ASH ST % X2
4. | A body satisfles second condition for %f;@ 2Pp=0 2 F=0
equilibrium if: @ . :
B AL P8 S \09 sl Sk g4
" | Rate of doing work Is called: PREN 4 Power Torque Energy -
T . <, > )
6. ' '{"B”H&'JJ’/‘; el ol 8ms™ 8000ms™
The orbital speed of a low 0 llite Is: Zero
~_) . /
YRS 4(}‘&&45’,’%’.4&-&}‘1(4 . , e
7. | The S! unit of pressure is Pascal, which Is equal 10" Nm INm" 10* N’
to: L
s badpwd roitég it 200 > ! F 8
8. | Newton's first law of motion is valid only in the "
Net force Force Friction Vi
absence of: T
&/«“nﬁ‘iﬁaw’uMwig)'f,_g.juuiu?u,v» ik g},/ (g,_Jdl; p
9. U _
Two equal but unlike parallel forces having Atorque A couple Equilibrium .
different lines of action produce: jul
Sl whiet Bl 2SS w & S &
10. -Gt \ ,
By dividing displacement of a moving body with Speed Velocity Acceleration pCefe
time we obtain: ..
11. g besshed 0 e s 1 mm. 0.1 mm. 0.001 mm. 01
Least count of digital vemler callipers is: :
2. - Uy or it U-0.00580 km 5 2 g i)
0.00580 km has significant figures: g{
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Physics SSC (9")1* Annual 2023 T
Time  : 1:45 Hours Group : I Paper (D 24 et .(;f e 1_:{5 ;;'
Marks : 48 | Subjective (1 Sust <]am>2 43, "
Nbte:- Section B is compulsory. Attempt any two (2) questions from Section C. ez Lydhrneids c.u-ffr,f_q...(ﬁﬂ(n/ RO%
SECTION-B /.~ s ‘
2, Write short-answers to any five parts. (5x2=10) é,{ Fye yu:’f'f Ldﬂé}g_af © L2
i. Define atomic and nuélear physics. éuﬂggd()/;,‘ l”
ii. How is precision related to the significant figures in a ,,vydmgg_,,»_,,,‘ﬂu_’,,; g i
measured quantity? ?éuﬁlf‘—{)f@ ‘
ili. Whatis meant by vernier constant? ?q_.;l/ Va,w/f;’u i
iv. Differentiate between vectors and scalars. "uLu )u" )«P uf- /; v
v. What is meant by uniform speed? °4.ﬁ/V;1g(AVJ v
vi. Define retardation. éd;’&ﬁ»b; i ‘
vii.  What would happen if all friction suddenly disappears? ?B’rV/zrbﬂf’Jbluf)é(’ﬂfr Vi
viii. What is meant by banking of the road? ; ?+;l/b’¢5‘rg,§gﬂ: viii
3. Write short answers to any Five parts. (5x2=10) é{ Faliz L.tﬂac,&f .3
i. Differentiate between stable and neutral equilibrium. éu}u‘z/dﬁ:d}w' A5

ii. Differentiate between torque and couple.
ili.  Write down second condition for equilibrium.
iv. Why are communication satellites stationed at geostationary orbits? S’@
v. Whatls field force? @
vi. © What are artificial satellites? %Q
vii.  Define wind energy. O%%
viil.  What Is meant by magma? @
4, Write short answers to any five parts. é&:w)

i. Where Is Pascal’s Law applied? @
, ; )

ii. Whatls stress? Write down its unit.

?gfl/..:/».iﬁgt. i |

lii. Whatis elastic limit?
iv. What is meant by internal of a bady? fsl,y (j.f_.(j/t‘ffldﬁ‘z v
v. Whatis a thermometer? S prZ vo
vi. How does heat reach us from the Sun? &‘4.&'4(@!/\.:5‘(74_@” Vi
vil. Define rate of flow of heat. -c‘f‘/...g ,-76(, )&}L,:Z..pjl/ ik
viii.  Differentiate between conductor and insulator. —éd‘)dw‘ﬁ.d')’/uu’r .v(if
SECTION -~ C /s.» | ‘
Note: Attempt any TWO questions. Each question carries nine (9) Marks. A A@IL Uy ﬁ-é ;:;Uﬁé..;alllm,_;c,aﬁ..bi
5. (a) State Newton's 2™ Law of Motion. Also derive its @ m&awd_lzé’mlaf_fugu)m/nniﬂb}ﬁ ) 5
mathematical equation. é )
(b) A car starts from rest. Its velocity becomes (5)  (U“4£8. q..&/ Us 2t/ =7 4...)L(5./ub’u(l O
20 ms™' in 8 seconds. Find its acceleration. é(}’ﬂ/}’c Vu’lz_GLn 20 ms” U’qu/l '.
6. (a) Define kinetic energy and derive an equation forit. (1+3) ,éilcybl/(j/ lu!é..y ¥ Jd /I.QGK ) ;;_(5‘
(b) 'A force is acting on a body making an angle of Znd bl ¥ 30° Bbérfi-x 4/0'( vidL () :
30° with the horizontal. The horizontal component  (5) ,éér:"" Vidig20N ..'/_r.f _x¥ u‘d',q_du_f df ; ‘..‘
of the force Is 20 N. Find the force. : Pt owg ’
7. (a) Define and explain latent heat of fusion. ) -&éu L:mlé.y A 6.:«;!!6.‘? Jnv‘. (Y -7 ,
(b) The head of a pin is a square of side 10 mm. Find ~ (8)  _&-10 mm L LISV e tig ol MWt Ll () < 1
the pressure on it due to a force of 20 N. -éé(}” /"..40!;Lnl4«,4w}6 20 Ndbé&uﬂ ‘ ~

15-123-1A-44000 %
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Paper :1 Objective s Vs lpo: ff 1.: : 4
Time : 15 Minutes (iv) e 15y
Marks : 12 PaperCode | 5|4 (7| 8 Seol ~2-23 A2 ﬁ
J{:)/Lcﬁ&f/tﬁ/bu'ﬂv£uliufu¢.u.‘.'u:/b2:c..:¢b£Jlr//Q(dli-w<£f—:D »C,B, A utlijlbédle/ﬁ 0 .J
. K ? wuwwf IS ul}‘J i} / 2K 4../ 24 u:ﬂ»:t;;...f. .»
Note: —You have four cholces for each objective type question as A, B, C and D. The cholce which you think Is correet, fill that circie in: front: of that,
questidn number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result.no .maxk> !
SECTION-A Uii.» A FETEAS
Q1 Questions /=iy A B c kI
. 5 e
1. _4,.L-/ s iu/’téﬂd /'*)l)gfr(fr’o’( S B Uil U rf; \;’I:)ut '4;;1;:11,,?3
Abody has translatory motion If it moves along a: Straight line Circle tadion Curved pagl :
‘ S b/ I dFog iz Lgf et yy e S o m;'r'uj .; N
2. | Which one of the given options, affects Temperature | Surface area pf Wind Aitgf thesg .
evaporation? the liquid . : T
P N Y SR T Suib LK s Lk YV Erml i Jdﬂ,&g‘gj;-
3. &y < \/ & yah &3 '
The density of a substance can be found with the Pascal’s law Hooke's law Archirsedes Pnnc{ple of
help of; prigiple floatatlm
_q_@gdsz; csr Ll LM/\')‘)@ gf.-j ) 4.‘?..5;4{):
0y . ( . . . ey ._ .
) 4. | Land breeze blows from: ) ‘jf o =/ ‘S“‘” NS
: Sea to land land Land to sea Land to 8 -
during nlghtm<<amg the day during night duringithe day
fu&duu&/&,/’auﬁr&ﬁJaﬁdwwy‘?ﬁ @ ) o
5. g lredt %m 1000 km 6400 km 42300 N6
The altitude of geostationary orbits in which @ B
communication satellites are launched above th CD - ~ ;
surface of the Earth is: A
\ .
PRYAFIIY NPT AY POV P A AAS% K. S ,0
6. | Which one of the given devices, ¢ Electric bulb Electric Photo cell Electﬁc J
energy Into electrical energy? ~ generator
LiIAAR iRt N gl | | P o v . ‘”“?' ;
7. | In which state of matter, molecules do not leave Solid Liquid Gas Plasma,
their position? & L
H o : 5 ' 6:‘ L4
Bt g-Blpsi¥ 30° LA x ilidy 10 "
8. Aoz & 4N 5N 7N 8.7 NV:«“
Aforce of 10 N is making an angle of 30° with the e
harizontal. Its horizontal component will be: e
. y . . " ot \ e
v bbb ol L it bonr 28U Ui Ui . WP Fy \)/
9. | Newton's first law of motion Is valid only in the Force Net force Friction - Momentum
absence of: : ‘ﬂ
10 NECYAIWEr iy Sk sy ¥ ("/ ]
Rate of doing work is called: Energy Torque Povier Momentuu
-q,_‘)!b'i—f(}”zlb(jc_.%uﬁf_(f( rlf {‘l[lg - Ui Jr .'
11. | The amount of a substance in terms of numbers is Gram Kilogram Newton Mole
measured in: '
12. Y P A1 15 PRVASI P {15 0.01g 2mg 100 ug 5000 ng ¥’
Which one of the given quantities Is the smallest? R
16-123-12-42000 -k %k *‘
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Physics SSC (9")1* Annual 2023 C iy
Time  : 1:45 Hours Group : 11 ) Paper (D 24 ! lyass 7:/ f & 143 - ~ ;ﬁ;
Marks : 48 ~ Subjective deir SIA L2272 48 ;3‘
Note: - Section B is compulsory. Attempt any two (2) questions from Section C. é..,tliéu)lruc,df a.d(r,&-q.,d)llrua’--&l
. SECTION-B /5.~ .,.:?
2. Write short answers to any five parts. (5x2=10) _ég/’ .-,yz/-" é;le&é&f %.2
i. Enlist any four laboratory safety eq uipments. .4’.@&6;1{}'?&711{43%:2;‘&-6}42 4"
il.  Define light (optics). oS i
ili.  Whatis meant by physical quantities? ?q,JL‘KU}A‘PU) i
iv.  When is a body sald to be at rest? T{..(:‘MLJ' 2 .,f("df v
v.  Define uniform acceleration, éd/(fg&')jlflg} V' :,b
vi.  Define vectors. -ésﬂf’lj /!: # vi.
vii.  Define momentum and write its equation. do J)l/&j lulé...g/éﬁ? 7 e '-
viil.  Write two differences between mass and weight. éut-u)»ub»[.ulwiub .'\;liij
3. Write short answers to any five parts. (5x2=10) é{/’ ez ¥ Lwég.;_d/ L3
i.  Define couple. é‘gﬁdd‘( ._i ‘.
ii.  Differentiate between centre of mass and centre of gravity. é’u/u'd//_:f,vmghgf/ i :
iii.  Define geostationary orbit. jdﬂ&w}gﬁ/? i :
iv.  Why does the value of “g" vary from place to place? ?4,Jnu;f._ob"4u:rc\.ﬂ.,égf'§"6'
v.  State Law of Gravitation. éuLuiG’Ku‘dif
vi.  Define elastic potential energy. @@ éu/ddzldﬂf.ﬁ*l vl
vii.  Write down S! unit of work and define it also. @ é‘_{(f_u/ (f’lulé..(iswhﬂ) v
vili.  What is magma? {&%} T(r Vbé‘ Jvii
4, Write short answers to any five parts. (5x2= % &, O L;lﬂ&y,df .4
i.  Define density. Write down its S| unit. Ju/swm éaﬁéd’*‘i .‘.i
iil. State Pascal’s law. Write down applications of this la y life. S‘q:.lrrru({cfdncfmuwf&’ulb'w éukd!l‘ﬁf’k o
iii.  Define heat. Write down its S unit. Zoyswudy p J..«ﬁr
iv.  Whatis meant by absolute zero of tempe % Sl pif él/}ud)’y’& A /’
v.  What s the difference between me| int and freezing point? fe-Jplrus Jl,tJ Z )ul.zlg.ﬁl’
vi.  Whatis greenhouse effect? T Uﬂrusuf it
vii.  Define the radiation mode of heat transfer, _c’i:.ﬂ,/(juy-ldél{—)éaﬂdd;l il
viii.  Write down any four measures to save energy in homes. _éaujbgqéfé—[,:{-&f}uﬂu,[ vili

SECTION -C/r.»

.

Note: Attempt any TWO questions. Each question carries nine (9) Marks

LADIL iy . linLctivive 3 s

5. (a) State law of conservation of momentum. Explain it with (4) (,fmc.db‘(ju:#f éuuu/sv(ﬂ,,/ b‘fv r () .6
balls’ example. O PTINN
(b) A train starts from rest. It moves through 1 km in 100 s (% Lf)’(lpb-/.,q..dfc;/wu .JL(S..—J;(,L)‘.II ()
with uniform acceleration. What will be its speed at the /100,4_&/LJ‘W,5:V;.{!U' 2100 sLL
end of 100 s? $rizSeradnd” *
8. (a) Whatis meant by Kinetic energy? Derive its equation. (1+3) é(»l..,bl/dul‘"q..:t/ Lfcd/h.ﬁdf () 6
(b) A force of 100 N is applied perpendicularly on a spanner  (5) f(_}"bfz, 5 4,610 em e 2r i B 109 '_'(.,a) ‘
at a distance of 10 cm from a nut. Find the torque ér}"’-.fal!llbd__m“:.m-q_w
produced by the force. _ - .
7. (a) Explain how is the temperature in a Greenhouse (1+3) b'.blful}/.(,)‘ff,{-zu:u)h;{,/faécab; l(.;y‘l) 7 ﬂ
maintained? -4 :
(b) A wooden cube of sides 10 cm each has been dipped (5) u"(}t!q—wcmdUJd'/‘C.L/vrfb’d/..ﬁ ‘ (;)

completely in water. Calculate the upthrust of water acting on it.

-c‘éﬂ"’d;!édl{l(ﬁd&.{,u’hc‘,mMm)‘){’ )
16-123-1A-42000
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Time : 15 Minutes (iii) - L 150 &S
Marks : 12 PaperCode | 5|4 (7|5 ';,A_,_,_,c,,,z_-z__ 12: 4

-Zfzj/c.uflijljl.ﬁ/’b&l&fﬁ,.b?:/uc.gﬁu;/'béé_,)&l/édlrﬁ/'ﬁéﬁ}li_wéé_.ﬂ) # C.B. A ;,l,(,z_;f,k&dg,»ﬁ —

T T T S 1Y e S/, 7Sk i/, /'/ Ursbnbie okl
Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circie in front of the
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.

SECTION-A (il»

Q1 Questions /=l A B c D
2 s )
1, e Brer s B 1000Jkg™ K™ | 4000 Jkg™' K" | 4200 Jkg 'K~ | 810Jkg™' K™
Specific heat of wateris:
2. i R BT 32°F 0K 37°C
Normal human body's temperature is:
. LL? Ll L‘? D leh | wireh Lol | cwr sl
3 . | gl s T4
Land breeze blows from: Land to sea Sea to land Sea to land
during night during night during day
4,(}:’/ LSA)'(,S)I/L(/AJLU:Jé-U:/{JJ" " <§> 1 1
4. | The value of "g" at a height one earth’s radius 2g O%% 39 29
above the surface of the earth is: M@
b ,:IJUD»LJ‘(:JJIJJJB‘J'/’-.. ) @\}\/
5. | The work done will be zero when the angle betwee ? 45° 60° 90° 180°
force and distance is: /&é
1 7t i = > rg 5o
6. 40 & JLI A Lodis - 8rms ™" 800ms™ 8000ms™
e s Reic 3 Zero A~
7 I \‘4_&5" u:_Lf,&,U'UI #¥ df/ (:‘-/;EI o
" | Which of the gzven substance is the Ilghtest one? Copper Mercury Aluminium Lead
8 =y jlle_‘;/'l Lf/? ! UJ}J»{ vl (3’[3’
" | Inertia depends upon: Farce Net force Mass Velocity
q%&ﬂlliéfﬁflﬁeféjguf
9. | the number of perpendicular compohents of & 4 _ 2 8 3
force is:
- ?q,,‘fuwg(;fau:d! o ¥ gl .w"*ui »Y
" | Which of the given is a vector quantity? Speed Distance Displacement Power
- Sofe i Tt | g g1g 2mg 100pg 5000ng
Which one of the given is the smallest quantity?
. el U S S 3 ¢ : o
The number of base units in St is:

13-122-A-39000 K k%
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Physics $.8.C (9"‘)—A-2022 of
Time  : 1:45 Hours Group : X Paper (D 24 s ..'»/ us: o
_Marks : 48 Subjective  (}) Sal ,Q 1= 23 48 1
Notei- Seotion B is compulsory, Attempt any two (2) questions from Section C, eﬂwuﬁﬁu)!m::.df 4:_.;/3("" Y o Sl ss i
' SECTION-B /).~
2. Write short answers to any five parts. (5x2=10) -éf{ Aoz /‘“'.;L/»;fflé&z.—a!(
i*  Define Plasma Physics and Geophysics. ,c"fq/"(ju{'}::‘-uuf/'bug i
. What s International Systern of Units? ?9?’#’“%}“«}.’;{ 3]
fil,  Estimate the age of 16 years in seconds, _~'*‘aui' JEE ik /'O'Ubux_/, i
iv.  Differentiate between distance and displacement, _E‘fc}_lgdjuf-w{gd}ulyb N
v. Define Rest and Motion. -é»’gﬂ(jcf;)‘»hﬁxfz A
vi.  Define Acceleration and write its formula aléo. _é‘f&ﬂnﬁb’wméqﬁécﬂ)& A
vii. ~ When a gun is fired, it recoils, why? Yuétq.al/ﬂfé’.:i4‘é(,&kdmvﬁg A
viil. - What would happen If all the friction suddenly disappears? Wﬂp’;&‘,n?;f%l.j’}érjﬂﬁ A
3. Write short answers to any five parts. (5x2=10) .&{4 ey L;lﬂéyaéf
i.  Whatis meant by centre of gravity? ?q_,!/yfa;i,{;faff‘i/ A
il.  Define Stable Equilibrium and give its two examples also. _Z’xﬁui'&' » (f’lu!é’f.@;”’dﬁjdﬁ;&ﬁi i
ill.  What are artificial satellites? ULl S
iv.  On which factors the orbital speed of a satsllite depends upon? @ u;/Jd;f ;f«_u' d lk"o’" N
v.  Write the height and velocity of a geostationary satellite with respect to earth Vi o’ Ilwldx‘éib’éu-lgfu (5 / Z v
vi.  Define Power and write its formula. {\\}?ﬁ _ég/’vmbn,fluléq/ dug R
vil.  What are two types of mechanical energy? @% U c};’rmmfd jILf:{‘:O v
viil.  Differentiate between work and:f"é!nefgy. ' %S ,éCbu JUG Al
4. Wiite short answers to any five parts 10) ,zirz Yo yd L.lzlé&;.&f
. How does heat reach us from the Sun? ?4_@"4{1 Jﬂc.b;r.wl/ i
ii. Whatis the effect of length on thermal co ? Pebadils 46 8% A i
ili.  Write down names of four faces of be”. ,a‘fgf’rb.f.uf/,!gd WL VRN
iv.  Define the terms Heat and Tempé -éq,""(j—'aw"d/{-/»‘w‘/ A
V. Whatis meant by upper and lower fixed points of thermometer? Yc;._)l/LfL‘f‘l{.iﬁ/‘)»L(,kﬂ-/‘rr/: %
vi.  The temperature of Lahore is 50°C . Convert itinto Fahrenheit Scale. _Zf(l;u?-dfc.bé{015¢1-4, 50°C &m0 v
vii.  Describe that when the objects float on water and when sink into it? TUEZ_@,,AL;ILU'IJ ulu!L,:‘.pIL&LJ (l/.lf a‘fuy, v
viii.  Define Plasma. What is its relation with electric current? ?:,_CJ‘J_VJLL.:}f..f‘/.’Ib’ULéf\.g/TJLJQ R

BAILJr ) fr o
SECTION - C (Each question carries nine 09 Marks)

1 5 ’
5. (a) By using speed-time graph, prove that S =¥t +% at*  (4+3) S=Vt +-£ ar’ fém&é/dw‘fw’fﬂ‘%{ (&)

(b)  Find the acceleration produced by a force of 100N In a I“o‘ﬂ);-i E'fwjé'lOON utﬁ..,QLuLﬂf,Vso ()
mass of 50kg. ®) tdes
" . ‘n-'
6. (a) Define Potential Energy. Derive an expression for It at 2L 4!94@).:‘5@/&&/!0)’ PR )]
some helght with respect to the Earth. (1+3) sl
(b) The steering of a car has a radlus 16cm. Find the (),'(Z_SON -&-18cm (f L, VW:J" C L ()
torque produced by a couple of 50N. (5) _E.{'(’r}” .,vau.m‘,,:,
“« ” - ) S . s
7. (a) State and prove mathematically “Archimedes Principte”, (1+3) & ete & Ol ZE YLV A4 ()
(b) A container has 2.5 litres of water at 20°C . How much 2Udt¢20°C AN e B2, 508 0 4] ()

heat is required to boii the water? (5) Y‘q.;b’»;li»dydclli.ld.
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Marks : 10 Paper Code | 5|4 |7] 8 | Swl-Gae:
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think Is correct, fill that circle In front of that
question number in your answer book. Use marker or pen to flll the circles, Cutting or filling up two or more circles will result no mark.

SECTION-A (il.»

Q1 Questions /=iy A B c D
Lo L0 (a) J)’-(l A(m)yb fu'/)‘ o o L
2 4
i L. | The product of mass (1) and acceleration (a)is Mot Force ln; i Totgoe
1 equal to:
% 2 -4,—11)‘:53’(//}0’-"‘6/"’ Fe = my Fe = mv Fe= mv? Fiom mv?
: Formula for centripetal force is: r r? I3 I
3, ewsedB 2 | 01 mm 1.0 mm 1.0 cm 1.0m
Least count of a metre rod is: A
3 (}; )/. o ) L},Cu)l/l/ O
A f a0 20°C £ 4SS <?)
4, | Whatwill be the temperature on Kelvin scale when 273 K 293K O 300K 373K
itis 20 °C on Celsius scale?
5. —+“‘-’°’~~"’-’~K%‘f,‘. s 0K
Water freezes at: 4 Fox P
< A R 3 g
vt AR gt nd 1| @ Lt
6. | Inwhich of the given states of matter, molecules'do S, : ’
y 1) . PI
| not leave their position? ({\ ON Solld §- ——
7 g2z S b \ ‘/,.«\ .4 el
In solids, heat is transferred by: Radiation Convection “ e, L Absorption
- ~0 2
_.;,dﬁgd.&.d:(/l_‘ﬁélic}:Jc.u:;&’c/..’(f"g" K 4 4
8. | The value of "g" at a height one earth's radius 29 9 37 2
above the surface of the earth is:
Siedun e Qb ¥ 30° LA -x ribdito |
" nesd an 5N 0 8.7N
Force of 10N Is making an angle of 30° with
X — axis, its horlzontal component is:
.(,.L'ﬁ._dl}c)?z,é—J’Uuld;hx’ﬂ)’;fu
10. | The work done will be zero when the angle between 45 60 90 180°
force and distance is:
a 1 fc,—/'f:wtf' FeUhy) b S s} Mw
¥ " | Which of the given is a vector quantity? Speed Distance Power Displacement
p
R eI §Ur i1 2210.0
g 12. | jn the value 210.0g, the number of significant 1 2 3 4
! figures is/are:

14-122-A-36700
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3 Un/s.s.c (9'")-A-2022 54,
Sy : 145 Hours Group : 11 Paper (D 2% l/»h,,:/ 251:45 I

arks : 48 Subjective (318 N S 48: A
lota:- Section B is compulsory. Attempt any two (2) questions from Section C, ;daglﬁéuﬂfu;d/ c_;ﬁ(’r,.o-q_d)ﬂr”,» O
SECTION-B /i
2. Write short answers to any five parts. (5x2=10) é{ /’..{4!/ L,még‘df 22
i. Whatis meant by base quantities and base units? ?4,;!/1,(4‘{'!(5:1»4;!‘)»{»»6;0 J
ii.  Whatis meant by positive and negative zero error of screw gauge? Sqsl ol syl 3y :;‘!'ulﬁzgﬁ.é{/ Ja
iii.  Convert 12 years into seconds. zﬂl;uﬁ;b?fdbm il
iv.  Differentiate between vectors and scalars. _éél;d}cﬁﬁf-’cut i/’f; Liv
V. Whatis the difference between variable speed and uniform speed? _ feJprus Jgfzu:'gaf&rd.‘ldg: v
vi.  Differentiate between distance and dlsplacement _zédbd)u:u‘*u;m.w Vi
vi.  What s the S1 unit of force? Define it. ‘ U s osisivd i
viii.  Write two disadvantages of friction, ' _ai&/o(:bﬁuéu'f) viii
3. Write short answers to any five parts. (5x2=10) -éé( iz L,lzlék.df -3
i.  Whatis meant by neutral equilibrium? ?q_.A/L/:_g/d:{Uh’. i
ii.  Whatis meant by rigid body? Sl e Gilhs i

fii.  Why does the value of “g” vary from place to place? u:f..af".gu:tzui”uﬂ’d “g" i
i @ Y.;.dn_lfwilg v

iv.  What is field force? @
5
V. What are artificial satellites? . %\ O SUALPU By

vi.  Define Work. What is its S| unit? <& fe-lrasysi l{m-é..zﬁ(j-_f: Vi
vii.  Why do we need energy? @% . ?q_anu{..au/(fdﬂuﬁ' vii
vii.  Define Potential Energy and write its formula. %5 , ) éﬂnﬁulé..ﬂ/ dd/ld‘/\g iil

4, Write short answers to any five parts. 1 é{ Sl L'ulﬂa(lf -4
i.  State the principle of floatation. -é-lf'c)wy'll(d—ﬁ A

i Define Elasticity. P AT

jii.  State Hook's Law and write its formula & ﬂnuwwzéuwitk.( il

iv. ~ Define Specific Heat of Substanc ' _éqﬁtj.u"‘;.mlléé;uf v

V. What is meanl by anomalous expansion of water? Sty Qf.:_w_’;mb'é,l.ag v

vi.  Write the uses of Styrofoam, » -é.:llb‘:’lérb/‘('x Vi
vii. ~ Why conduction of heat does not take place.in gases? ?L-ﬂufiu»(d"b’cf(i/uﬁf:( i
viii.  Write down two uses of non-conductors. ‘ -z:".-.w”:»,&/xme viii

W L o)~ v o
SECTION - C (Each question carrles nine 09 Marks)
5. (a) Derive second equation of motion with the help of (1+3) -éifjih.-.’bl/d/»dcfié.md&l/ﬂ'ér ) s
speed-time graph.
(b) A body has weight 20N. How much force is required to b.gc_cﬁ-)j-ll. 2ms™ fw-q_mN UJ;V(’-J ()
move it vertically upwarmh an aeceleration of 2ms™7 ) ?(Sn...w/'(fw}o"/ s LLL;})J,‘J!

6. (a) Using Newton's Law of Gravnlatlon fmd the mass of the' eanhrv (3+1) cé(}”ubku-'uc.wduﬁéu”dlfédf ) 6

(b) Calculate the power af a pump which can lift 200kg of -¢- DBk Som Ut 1070200k ik ()
water through a height 6f 6m.in 10 seconds. L (5) cf(-)"uw,/
7. (3) Whatis evaporation? Explain any three factorson ) 4Jéub;(3’d’l:’u" ¢.df"4..(/‘/u;-!l W 7
which rate of evaporation depends. .w(“14-3) _ -q,_b'mb‘ﬂ(b)(j‘ﬁusg!

(5) ,zf(f*’w}ddmé0;4‘14,4.,//4#/,/#&‘ Veblese100m QWIS 1l Vs o ()

(b) A wooden cube of sldes 10em @ach has been dipped completely In water. Calculate the upthurst of water acting on it

14-122-A-36700
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Roll No.
' -*
Physics $.S.C (Part-1)-A-2021 ‘/7.
Paper :1 Group:1 Objective (f 2> u;;:b,a:f 11 24
Time : 15 Minutes (1) 2 151 &hs
Marks : 12 PaperCode | 5|4 |7 | 3 SwL- (A "2-' 2 A

Z-J/C——J:L)/JLJ'/D/DJUVLu‘?u’l)ég}‘d!/u Q)éVLJ'Y//(éKd'J’ wd,ap)D »C,B. A ..‘U!ijLJlr/ -2y
X nu‘7 blo.._.fl!{uf 4 Jf.wr"d/ L./ },/ uﬂ,z_f /,,f u,/lmg/:._{l

Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=iy A B C D
SIS NI N
1. Wwm>K Wm ' K™ wm' K™ Wm K™
In S|, the unit of thermal conductivity is:
b K
2. 6x10° kg 6x10" kg 6x10* kg 6x10™ kg
The mass of earth is:
,(,.L-;f/.uugwkkﬁ
3. 764 W 746 W 674 W 647 W
One horse power is equal to:
e )
PSRN ©
4. kgm™ Q O kgm™ kgm™ kgm
In SI, the unit of density is: <2 %
©
,4»."/')(/6 Ty % v 2
5. C@ p=_ p=mv’ p=(mv) p=my
Equation of momentum is: @
A
<
" Jn.»,a'y,/ —y b/ S .a/d/( - Sl
6. | Aforce "F"acting along x — axi — component zera F 1 2F
is:
e bnSved S /,;J»Q,/-’L*ufé,,f-.f 7 by Ik & S
7. By dividing displacement of a moving body with time, speed acceleration velocity deceleration
we obtain:
te s iluerd s It 1) 2 o Kl A/
8.
Which one of the given units is not a derived unit? Watt Newton Pascal Kilogram
__V.ﬂﬁ&/‘fut();:ﬁ'(}”/
9. Jkg™ K™ J kg K7 Jkg? K™ Jkg K*
In Sl, unit of specific heat is:
gL ezl S L sk & 07 e
10.
The ability of a body to do work is called: Power Energy Force Pressure
e S AN slpe s L S G ek Sy =36Jul
M. | The force exerted perpendicularly on unit area of an Strain Young's modulus Pressure Buoyant force
object is called:
LB SL 7 JE
12. 5 2 3 4
The ways by which transfer of heat takes place are:
1 ya /,/ 4m 4m4 A DAAND - o
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Time : 1:45 Hours Group : T Paper (I} 24 s -,,-«’f 150
Marks : 48 Subjective Sl eCle 48: A
Note: Section I is compulsory. Attempt any two guestions from sectior IL. -éég Aoz ‘Caﬂl;‘»ééfc;.w-(»/-q,.d it
(Section —1 (Jil.#) '
2. Write short answers to any five parts. (5x2=10) _2’3_!4 i .-:LIZ /"; L;lx’lé&z,&f 2
i.  What do you understand by the zero error of a measuring instrument? ?(JZE’.-HI.J()VLM;{JLJTL?’QQL{ A
ii. Whatis Vernier Callipers? Write its least count. -éé{/&j%’d/.“b’w?c‘,y)ﬁﬂu i
iii. Find the number of significant figures in 210.0g and also B el ér}”,iﬁdu;/w U2 210.0g i
express it in scientific notation. -é—{thJ‘utu%‘y
iv. Define Scalar and give any two examples. _ﬁ':ufl‘»":)o’&fulé..}lﬁgké R\
v. Differentiate between distance and displacement. -éugd}%%db;l.}ﬂb v
vi. Define Velocity and write its mathematical formula. ,4”',:4,;.1//(5Ql/b’dlulé.y/dfs'u; Vi
vii. Write two ways to reduce friction. ,éz/’&)»éz,/(fﬁ’/ Vil
viii. Why rolling friction is less than sliding friction? - v e j ki 5B i
3.  Write short answers to any five parts. (5x2=10) -ég Sz 4 L,lx’léga_&f -3
i. Define Head to Tail rule. A S8
ii. Whatis difference between like and unlike forces? . véd)yw/,ﬁdxﬁjuuwju i
iii. Define Rigid Body and Axis of Rotation. -é’fqﬁdu:é»affgn}(ﬁ@}y i

iv. What are artificial satellites? Give an example. @ ,zi';dl*/?ulyu"’uﬁr(f}” v
v. Whatis field force? @@ teBalritf v
vi. Write the value of “G” and its unit in SI. : %O ,é‘fu‘:SI J/‘gb’gmlo"fd"G" Vi
vii. What is meant by the efficiency of a system? Oé& ?4_.L“lgy_,)bp’¢,o'z'/&!6/‘)”/o'{ Vi
vili. Define Power and write its S1 unit. @ ‘édgsl K/l»léqﬂdug viii
@g, =10) ,a‘-.‘({ F ez ¥4 L'lzlégz:.&f 4
@ ka5 JL)‘;’" % i

4, Write short answers to any five parts.

i. Define Density and write its formula.

ii. Whatis meant by elasticity? Sl Lf:,u”-“w i
jli. Define Stress and write its Sl SIS ES A J»/ i
iv. Whatis meant by meltin and freezing point? ?éﬁ’/gé&'{"u{zjl)’&’ibﬁjf‘ v
v. Evaporation causes cooling, why? ?QVﬁuﬁul:q..&Y%b’Jﬁcﬂug-y v
vi. Define Transfer of Heat and write its two ways. ,c"id((:éuﬂ}';;igﬂul254/76&1174)63‘! Vi
. boos
vii. Write two uses of convection currents. ,Zég/alﬂu"lnﬁgffcf{i’ Vi

viii. Define Conduction also describe conduction in solid, briefly. ,éifug/&“;fdfig?{%uﬁufi‘)i&é..yﬂéuy% viii
Section — I (Each question carries Nine marks) (4+5=9) (! AIL ) (92

5. (a) Derive the third equation of motion with the help of _Zé/';labb'(jﬂéafiaméulfﬁb_g () .5
speed-time graph.

08 s s8I IS s E I e s §3ms™ e L 150 om St/ 0.5 ()
(b) How much centripetal force is needed to make a body of mass 0.5 kg to move in a ciscle of a radius
50 cm with a speed 3ms™ ?
. L‘
6. (a) State and explain Law of Gravitation. ,aé,—»uw:éugwwwug/ () -6
,éﬁ”.f/wbzil&,q,d& B’J/:!,c:.md/':qi 15 cm /@JI}J 200N VC,FVQ ()
(b) A mechanic tightens the nut of a bicycle using a 15 cm long spanner by exerting a force of 200N .
Find the torque that has tightened it.
7. (a) Explain the working of hydraulic press. -Léuté;d;b’ﬂ)[,i—frb'éufz,u@;ﬂ () .7
A B T LA s ot L o o 4 B0°C el ¥ U102y 1 1.2 4 15°C Ut b T ()
-&-3.67x 107%™

(b) A balloon contains 1.2#° airat 15°C . Find its volume at 40°C . Thermal coefficient of volume

expansion of airis 3.67x107 k™. &/




"Physics
Paper :1 Group : II
Time : 15 Minutes

Marks : 12

S.S.C (Part-1)-A-2021
Objective 0‘ 3 /5
1)

[ras _{,/

Paper Code

51417

4 | SwL-Grl

<~ 15 ¢

J7

I+ 24
¥
12 3 /

Y 3 ;@#L/Aﬁ/’u&w Lhperna o u:/'b.’*fér) eLLJiv /:/,QKQI:?-‘,LY éJiZ:JD » C.B A=l g JK:LJLV o i
Ny blh,«l!.uf A s J by /,f <kl i/ /;f UsAsmsbie Ll

Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=01y A B C D
,(n.yfr[—y Ku’)dbi,/d/ajé X — axis
1. 0 1 F 2F
A force acting along x — axis ,its y —component is:
e Gl 7 E S a1/ Favou et b
,(fn&ih.,@’}b’d” f
2. 100 J 200J 800J 1600 J
A car having mass 400kg, moving with velocity 2ms™
. Its kinetic energy will be:
a7 e SN Zats
3. o - | Nm™* 10 Nm 10* Nm™ 10° Nm™
The SI unit of pressure is Pascal, which is equal to: <Q
)
ey LS UL @ RASN\C Rg Rg R g’
e f fE = 5@ ©TG M=% | M=75
ormula to find mass of Earth is:
(h
P
,4—651/.5)5’1;..&)£b200 @ » P
5. :; 0.2s 0.02s 2x107 s 2%x107 s
An interval of 200us is equal to:
- a o
6. 2 4 3 5
7. Win™ K WmK WmK™ W™ K™
The unit of thermal conductivity is:
bl L beS 7
8. = 6/6 =7 2aS=vf2—v,.2 v, =v,+at F=ma
Third equation of motion is:
eSS pA LB s L3 o7t
9. 1 0.1 2 0.2
Coefficient of friction between tyre and dry road is:
-¢a4(F,) UASE vt mv mv my*
10. = — Bl
Centripetal force (F,) is equal to: ¥ J r ’
_+&£Sl K))Q )
1. ms™! second ms™? watt
S| unit of power is:
=(V) 58 (7 U ol
2. VECRL yasar)y | v,(+pAT) | V,(BAT) | V,(1-BAT)
Volume thermal expansion (V)=
© 14-121-A-30000 Kk %k

e
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" Physics $.8.C (Part-1)-Ap2021 S
Time : 1:45 Hours Group : II Paper (D 24 Yk ..r)/ & 1us 0 =
Marks : 48 Subjective (I s_. - 4 2=24 48 A

Note: Section I Is compulsory. Attempt any two questions from section II. i‘é{ i a@lzéwvly»:,éfz,uﬂr‘»/_z;_d Mt
(Section -1 Jil.#)
2. Wirite short answers to any five parts. (5x2=10) ,éé,; Az ¥4 L»lzlégé(}f 2
i. Whatis me;mt by prefixes? Give an example. -a{::dt‘:ﬁ?q,;!/.lg’i.' G4 .
ii. Estimate 16 years age in seconds. btk ulal £ Ly i
iii. Differentiate between distance and displacement. _ﬁfjbé/'uﬂ&x‘? Ul beb il
iv. Define Speed and Velocity. -Z’i:qﬁ‘jé’ﬂ;/)f};r Jdv
v. Convert 36kmh™ intoms™ . -é’-_{‘_f.‘«;u: ms™ I36kmh™ v
vi. Define Momentum. Write its equation. jﬂdabb‘(jul,é..gﬁd(ﬁ:r Vi
vii. When a gun is fired, it recoils. Why? vuf!-+8u‘wf2;',}+&yéugdmvg Vil
viii. How many seconds in a day? Calculate it. -éd’?dlﬂib?guﬁu».{l viii
3.  Write short answers to any five parts. (5x2=10) -zé; ez 4 Z—'!zlé],::_[}f .3
i, Define Head to Tail rule. E I8k
ii. Define Torque and write its mathematical equation. -Zid.:abl/(}l/é’juléqﬁéik Rt
iii. Describe Principle of Moments. ‘ ,zéuw,«wef”y i
iv. What is meant by gravitational force? Sl /L/c:,u’J}J’L”’H dg/ Jdv
v. Define Orbital Velocity and write its formula. @@ 3 4/’1!;08&’/1;’;1225._131/7&5"0;&)7 v
vi. Describe global positioning system. S -zi"ugk’/ ﬁ;gdf Vi
vii. Define Power and write its Sl unit. Oé& _z’fag& u’/mtéqﬁdug Vil
viii. Define Efficiency and write its equation. @ ,é“fal;lx&ﬂulc’if..yﬁéu);&i Lvili
4.  Write short answers to any five parts. (@% -aé; Al F L;Izlék:,&f A

o 8812 500g UK AL prls 2000m’ LI

i. A stone having volume 200cm’ and 500g
Find its density.

ii. Whatis pressure? Write its mathe atformula, -éé;/’ﬂf;li(}bb’w?al_lf;u i

iii. Is pressure scalar or vector? Sl unit. ,ég/?b’f‘iSI VJI?}.(J L q—/.L:c/iz, i
iv. Write down the names of two factors effecting evaporation. ,c’i‘(z/?(b.f.d’!f»Ll:L;’IJuI?l/,(ﬂug,;'l v
v. Define Specific Heat Capacity. ,éq i Sorlcir
vi. Write the name of two ways by which transfer of heat takes place. ,zég/rl:éuﬂ)»!,a;vdlﬁl Vi
vii. Why does transfer of heat in fluids take place by convection? ?QJTML}/UE:,;F{PQJAIQG?IUL?UQ Vil
viii. What is meant by convection currents? ?4.,)"?5"_}""'/&-(}( Viii

Saction — 11 (Each question carries Nine marks)  (4+5=0) (1 AILlv ) enie
s e 8o pins ol E I AL rE S (D) 5
5. (a) State Newton's third law of motion and give three examples from daily life.
P Pl kKo Bl 15 ms™ S f P55 § 158 1680 &S 7§16 30ms™ KA ()

(b) Find the retardation produced when a car moving at a velocity of 30ms™" slows down uniformly to15ms™
in 5 seconds.

6. (a) Define Equilibrium also explain first condition for equilibrium. -éwb;(jﬁ}dfdr{/d:gm:ébgﬂéﬁ/d:ﬁ () -6
o e gt b 6m 210 504 200kg 4kl ()
(b) Calculate the power of a pump which can lift 200kg of water through a height of 6m in 10 seconds.
,é;awwdu?&:fL;Md}uﬁu,ﬂ"‘{?q.ﬂfL/;suwi[s,u ) -7
7. (a) What is meant by thermal expansion? Derive the equation of linear thermal expansion in solids.
,é(}"o))":’(jd‘/ﬁ,QBSO g9 JW&‘/QLLSJ».—QLJJ(& 40cmx10cmx5cm (o)
(b) A wooden block measuring 40cmx10cmx5cm has a mass 850 g. Find the density of wood.
s

14-121-A-30000
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4 Roll No, S il Annual 2019
Physics J‘ 7y (Jlf « I LS L8)- (IIT) \/:,
p

Paper:I  (Group:I) ~ 7 ( Academic Sessions 2018-20 ) (i)
Marks : 12 ' Objectiv. % 12 : 4
Time : 15 Minutes Code : 5475 < 1525

/;.ujjg/CL:C/":.'APJUVL.(l:?_-//u:.u:u:ﬂ;é{._:&‘_lzﬁdlr/;{géb’dl_e -gLsipmc,BA ARl L iy s
-fn»"-’wylﬁuﬁgﬂc—u‘ L/J&(!L/JUJ/"JD)&J‘G—U_@ -
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. The orbital speed of a low orbit satellite is -4.8;1 b S SBS S wre £ owt &£ .14

8000ms™" (D) 800ms™ (C) 8ms™' (B) zero  * (A)

2. The work done in lifting a brick of s S VAL bl oF St Sme s el g rl/ £2 .2

mass 2kg thyough a height of 5m above the ground will be

100 (D) 50j ..(C) 10 (B) 25j (A)

3. ' One horse power is equal to ~g=brsls nf Ui 1 23
756 W (D) 750 W (C) 746 W (B) 740 W (A)

4.

. . -4
The co-efficients of linear < el oils G Cut B/ SUg 2 ol s w @ S L U J

expansion and volume expansion are related by the equation

=2 ® f=2a (©) ﬁﬂa@(s) B=a - (@

5. In system international, the unit of Young's modulus is @ K uJ,}r ,Q ;ﬂJ’:}l ("” -5
Nm™ ©) Nm’ © > ®) Nm (A)

6. Rooms are heated using gas heaters by O%% gl £ (f S Ju Py u‘-r -6
conduction only S @wection and radiation «*I$L, i 5 (A)
convection only oL @%S radiation only S St (C)

7. Global warming is due to a gas O -4.‘/{ I o ¥ Lsy ¥ -7
Carbon monoxi VT S K (B) Oxygen ST (A)
chlor. oK (D) Carbon dioxide /T Jise  (C)

8. An utmost suitable instrument to measure the - JT Usr (i3 #Z_/(P KWMIHE oted s 8

internal diameter of a test tube is

vernier callipers ){6{ i (B8) meter rule 2 (A)
screw gauge C-' 1; (D) measuring tape = Jj}_’, (C)
9. A change in position is called -q_JUf in A u‘é‘g -9

distance JA»6 (D) displacement MJ; (C) . velocity u" Us (B) speed i (A)

10. The rate of change of momentum is equal to -q.&n Lz Z,/‘ J d’_ XS ("‘7’ o
torque ¢ (D) time &3 (C) mass JiL (B) force u? (A)

11. Inertia depends upon e A ¥ Vol .11
weight Wi (D) velocity (.5’ Us (C) mass JL (B) force J/} (A)

12. Racing cars are made stable by S sl St it S 2 12
decreasing their mass L/{JL (B) increasing their speed Sz &= (A

decreasing their widthZ.” ¢ Ji2z (D) lowering their centre of gravity £/ & (7./ U7 & ()
13 -119 - 42000 W




Roll No. Annu.

Physics (ﬁ{flﬁ’c I é/kd/ﬁé)

Paper: I (Group: I) ( Academic Sessions 2018-20 ) (.,.«:fl&;) (T:.
Marks : 48 48 | .
Time : 1 : 45 Hours Subjective (J®r) &1 .45

-g(/’:awf.éalﬂr (2)»:.3/:.05[‘».4’.{_‘!)!15}:’;-9 Y
Note : Section I is compulsory. Attempt any Two questions from Section II.

(Section -1 ‘,Jg".g)'

2.  Write short answers to any Five Parts : (5x2=10) -’ém—&lﬁ/ﬂﬁrm‘é&e&f -2
i. What is difference between base quantities and derived SEJe Sl S0/ WAUIG 370 1t k4 .
quantities. Give one example of each.
ii. Estimate 14 years age in seconds. ~e O K F Ju 14 i
iii. What is meant by significant figures of a measurement? -EEJe I e urin iE F ¢ il
Give one example. .
iv. Differentiate between Random and Linear motion. ) . -l Lo & J:’- (ies -iv
v. Can a body moving at a constant speed have acceleration? i‘;.CCn A ()-.J_ui./c.f/ g iy é::‘f &'f -V
vi. If action and reaction are equai (R <8 A I Lt e o F o S8 PO A i
and opposite then how does a body move? X
vil. What is meant by momentum? Write its formula, -2 Wy 1 el Yo 5 i
viii. Differentiate between centripetal and centrifugal force. ok O L P S Sp s JF S il
3. Write short answers to any Five Parts : (6§x2=10) -2‘;-:.-41.2/"&424&5;3:( -3
i. Define Neutral equilibrium and give its example. “EJe sgZ S 8 F?O'f‘ Ji i
ii. Find the vertical component of a e q.e‘;;‘,d»f I e (S b sls ¥ 30° L A5 - X u? Sk 50 i
force of 50 N making an angle of 30" with X-axis. <€) _ "
ii. State Law of Gravitation. @ Yk YIT Y U d.g/ —iii

v. What is difference between artificial and natural satellites. S 37 l:(uﬁu:' e 3/;’ sl S Ly
vi. Define work and write its S.1 unit. e <Y S sl ’Lf .gf u” s i
vii. How do we gain energy from air? @ fpi /e G ..’__‘.‘/ < st A _vil
vii. State the Einstein's Mass-Energy equation and wrlt et Zyy bl @A S FedT viil
4. Write short answers to any Five Parts: 5 x2=10) -&m&'ﬁﬁé»'ziéié&f -4
i. State Hook's Law. @ YUk UK o i
: WS S P sl s i
thematical form. Lal F Jte gﬁ mZE u ) S A il

iv. Why does value of "g" vary from place to place? Q{B%d”u{ - 4 un® ¥ i J "g" ~iv
5\

ii. Differentiate between strain and tensil

iii. Define Young's modulus and writ

iv. Differentiate between temper. d heat? SO/ UL 7 i /:'4 -iv
v. Write any two uses of thermal expansion. _al o Ty ;JIL 154 JJL’ -V
vi. Define conduction and convection. “E WS s P i
vii. Whatis the difference between land and sea breezes? S J/ Yot Sful Sz F' =vil
viii. What is Greenhouse Effect? Ser w iy oS viii
(Section - 1T, . ¢ .2) '
Each question carries Nine (5 + 4 = 9 ) marks B+4 =9 J LJ

S S KA 7 L akg Ud L e BT K 10ms™ 2L uskg uh bl (a)-5
S.(a) A force acting on a body of mass 5kg produces acceleration of 10ms™. What acceleration the same
force will produce in a body of mass 8kg?

(b) Write down types of motion in detail. -25 ok = J g5l S (b)
6.(a) A car weighing 12 KN has speed 20ms"' Sk G B I8 e 20ms™ A di¥ G 12KN L1 (a)-8
Find its Kinetic energy
(b) How many conditions are needed for a body F ool s SuE F EHin Lld kS ~ " ()
# to be in equilibrium? Explain it.

S B iy = b 20 Nos & ot e 10 mm L LU -2 U & 1 Ju KefLl (a)-7
7.(a) The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20 N.
(b) Define specific heat. Also derive the equation of -:'._‘.‘-: ol oyl J fbf Jﬂ/ sl ’A.f ...g/’ J gt w7  (b)

specific heat capacity
13 - 119 - 42000
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Paper:I  (Group:II ) ;/ ( Academic Sesslon 2018-20 ) (v’/‘/”) I:z¢
Marks : 12 Objective (%) 12 : 7
Time : 15 Minutes ) Code : 5478 2 151 2Dy

/c_u;:gﬂu’.;u;w&'w&._.!.z_-.mg..tu,;uéé.;z_v&du«ﬁ<Qm:.e -AELED S C B A MRl l vy i)
-fxxﬂlﬂv'ﬁuﬁgﬂeu’ L/J;—(LL/HU:;'»:&J:_-Q =)
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. The value of mass of earth is -4..3:1 ed S ANLeL 1 A
6x10"'kg (D) 6x10%kg (¢ 6x10%kg (B) 6x10%kg (a)

2. Aforce of 10 N is making an -8 wttsd 3 Uit vl o3 €30° AuL 51 <X uod oL § 10 -2

angle of 30"  with the horizontal its horizontal component will be

87N (D) 7N (C) SN (B) 4N (A)

3. Unit of momentum is e 2y ¥ 3
Ns™ (©)  Ns () Kgms™ (B) Nm A

4. Co-efficient of friction is equal to wgstlz w31 L ¥ P 4
ftd (0) % (©) o ’Q ®) % )

5. The motion of a body about its axis (; called. @ -4.311«(&:«!() J & /c"q..l -5
rotatory motion g $FEu (B coircular motion o K A
random motion J‘r oY) @ vibratory motion o UEA (C)

6. Which of the following is the smallest quanmy@é}@5 ce e S St S5 s -6 |

5000 ng (D) 100 (C) 2 mg (B) 0.01g (A)

gl £ef o fe e Lo AL 7
condu s B) Convection and radiation ¢4 s &5  (A)

7. Rooms are heated using gas he

con s D) radiation Sdi, (C)
8. Thermal conductivity of air is e GNP S 1 8
0.6Wm™K™' (D) 0.026Wm™ K~ (c) 105Wm K™ (B 245Wm K~ (A
9. Co-efficient of volume expansion of copper is - e S s (x.'b ¥ 48 -9
3.6x10°K™" (py 72x107°K™ () 6x107°K™ (8 S5.Ax107°K7' (A
10. Which of the substance is lightest one? ?;..J‘?c. - (o) & u’f -10
lead - (D) aluminium £k (C) mercury ./ (B) copper 4§ (A)
11. Rate of doing work is called L LA LS S 11
momentum frr (D) power st (C) torque e (B) energy S/ (A)
12. The S.I unit of work is -g Y SIE S 212
Pascal | (D) Watt b (©) Joul Jz (B) Newton ¢ (A)
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Physics (U T esys£) .
Paper: I (Group : IT) ( Academic Sessions 2018-20 ) (.‘a/"/.u ) (X: 34
Marks : 48 Subjective (J®&1) 48 : ,
Time : 1 : 45 Hours &1 1452

-4{/&}&&@0"7 (2)»4.&)2.;)‘1’(»/’-{-(JJUJ:':.0 RO

Note : Section I is compulsory. Attempt any Two questions from Section II.

(Section - I djl,g)'

2. Write short answers to any Five Parts : (5x2=10) -é:a&lﬁzyér'm‘k:—&}f -2
i. Define atomic physics and nuclear physics. -"Tf ~e'/"" J c.// A %o J(/ Lo i
ii. Whatis meant by prefixes? eV o ﬂd{ ~ii
iii. What is vernier callipers? Write its least count . AN < K ?;_gf},f‘lf Ao il
iv. Differentiate between Random and Linear motion. -Z,:u&u}) uﬁuf‘f /‘Y' sl izs iv
v. Differentiate between distance and displacement. Uk IS e L.w‘-‘“u'i nl del v
vi. State Law of Conservation of momentum. ' -zi:u_L, JIF ¥ JJ:/'/’( L (’*’P ~vi
vii. Define Force and Inertia . -z{_g/'" S sl d i
viii. Differentiate between mass and weight. ZEEWS) s s s i
3. Write short answers to any Five Parts ; (5x2=10) -éh&&ll./yéolz"&:—(jf -3
i. What is meant by Rigid Body? Sq—ilr Ve S Lov -i
ii. State Lawof Moments. < 7 I ¥ S i
iii. Define gravitational field. “EwS S W S i
iv. What are artificial satellites? Give its two uses. <2l vt L Se s pUe S S iy
v. On what factors the orbital speed of a satellite depends? 1‘4_@u; ,(;Ju’)f )/ &u:)J.y’ e uj -V
vi. Define work and energy. _é_g/’ SGH Loy v

vii. What is meant by potential energy? Write its equation. <& -éfu‘-(..-.mv gfl S‘q..)l/l_fa_ Ry J"f;’ - Vii
viii. Define chemical energy. Write its two sources. < % & 8&5 AP z-f_gl}'" JEH L2 i
4.  Write short answers to any Five Parts: @2 =10) -Zﬁwkwf‘?ﬁr’z '&&G—Jf -4
i. Define stress and write its S.! unit. << &y S .’&(-:’/‘." Juf-',‘f -

i, State Hook's Law and write its equation. @ &y z-fukuili" b’_( i
iii. What is meant by plasma? Sesly Ve Ll il
iv. Define internal energy. 0 v SGaSE v

v. What will be the temperature on -e- 20°C £i ¢JE W oall-: VAL {t):‘; ot v
Scale whenitis 20°Con s Scale?

vi. Define thermal conductiyi fite its ST unit. &y SNy SE S i

vii. Write uses of convection carrents. & e £ J"’f S i

viii. What is Greenhouse Effect? e LB sy d_/‘ ~Viii

(Sectlon -XI, - (13 )
(Each question carries Nine { 5+ 4 = 8 ) marks 5+4 =9)J L
Wt Kmh™ by Sof 2l i Jo 4ot 2 100 e 3/ B AL I £0.Sms? el /Ll (a)-5

§.(a) A train starts from rest with an acceleration of 0.5ms™? Find its speed in Kmh™ when it has moved
through 100 m.
(b) Prove thattherate of change .o (s <. L2 4S8 ii&(yr’ Lisdnt g Lo uddnl S < ,/o{fé—'ft‘ (b)
of momentum of a body is equal to a force acting on it.
6.(a) Calculate the power of a pump which -ép"‘ s JY" -q.CC U St J 6mL£108 /J& 200 Kgwry vﬁ (a) <6
can lift 200 Kg of water through a height of 6m in 10 seconds.
(b) Find a force from its perpendicular components -’4";(,1" 2 P JJ-E’,;( Ut L.MZ_/JV-:" Jﬁ (b)
by using a figure. . .
W 2 fp L1.Sem? G LEAEL) oty SIS 60 S TEN e £ L (a) o7
7.(a) A student presses her palm by thumb with a force of 75 N. What would be the pressure under her thumb
having.contact area 1.5¢m°
(b) Define linear thermal expansion in solids. 2 Bl ol \F‘l S J sug S Lzt U (b)
Derive its equation. L =L, (1+aAT) L=L,(1+aAT)
14 - 119 - 38500
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)‘.".'_,uf-"',,60?/’03&:"’3!&‘&Y':?.:/uc.Ju;il)&fé,;-';iréd‘rﬁ{é(db? -u_?.’:f:’_.: D»C,BA .:fl..li;ﬁ/k":‘)'r,f RO
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Note - You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. Which one of the following divices converts light t'g_,t/:/'_’,«; ut‘}.}uﬂ}.oif&)l .r._—’uv"'gﬁ;i:(:_ Sditn <1 A

energy into electrical energy?

electric bulb o S (B) photo cell 97 (A)
electric generator /‘.v;i...ff-" _ (D) electric cell 5 S (C)
2. The work done will be zero when the angle between the <o i) Jirndl bob sl o8 o2 pels 22

force and the distance is
180" (D) 90° () 60" (B) 45 (A)
3. Earth's gravitational force of attraction vanishes at <€)x.._f’ 797 }ﬁd{/t;g’: ;-3 |
; A€ 1000Km (D) ; ¥ 42300km  (C) ¢ bnat infifly>—(B) ¢ ¥ 6400Km  (A)

A <2 ; Sore. -
4. The number of forces that can be added by head to tail @%ﬁ S TGS e o J i da -4

any number »WSTY (D) 4 3 (B) 2 (A)

5. Inertia depends upon O@; ?';{Jf‘w"' il Jiditn -5
velocity (s (D) = C) netforce v9 e (B) force ¢ (A)

- - N o # s .
6. Newton's First Law of Motig alid only inthe  “cis b (_"quiﬁ".%d:g’zgﬂd:ﬁfffo‘\f = LSitn -6

absence of
momentum /"/r (D) friction ‘;& :’ (C) netforce :Ju" . (B) force Jz} (A)
7. Which of the following is a vector quantity? ey AeSude S T

power st (D)  displacement _»""-J‘Vfi (C) distance =~ 8 (B) speed i (A

8. The number of basic unitsin >/ are -9:!)&,/'.2 s V:'SI -8
9 (D) 3 (©) 6 (8) 7 (A)
9. Insolid, heatis transferred by e s JEIS pat 9

conduction ..f s (D) absorption c%’ﬂ‘/.' (C) convection uf":f (B) radiation 02'64_;_1 (A)

10. Normal human body temperature is : -9,&4} K30 s Lt =10
98 8" F (D) 3TF (©) 37 C (8) 15°C (A)
11. Atmospheric pressure at sea level is about el 2y S 2 w1

101300Nm™ (D) 100300 Nm™ () 110300Nm™ (B) 102300 N> @)

12. Specific heat of water is -r;_.zr’.; ;ul]d/@;'; =12

4200 Kg'K™' (D) 4200J Kg”K™ (C) 4280JKg™'K™' (B) 4200/ Kg"'K™' (A)
13- 118 - 39000 Wi ¥
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